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1. a) Explain five ways  a young population structure is a challenge to economic planners.							(10mks)

i. High unemployement levels- problem of job creation
ii. Strain on Educational facilities inadequate- resulting in high illiteracy levels 
iii. Rise in crime – due to survival tactics 
iv. High dependency ratios – due to unemployment
v. Industrial development skewed towards young related products.
vi. Rural urban migration
vii. More resource allocation to cater for them.

b) Outline five problems encountered by the insurance industry in Kenya.											(10mks)
i. High accidents rate – drain on finances 
ii. Few persons ready to insure – poor attitude
iii. Consumption by policy holders – cause losses deliberately
iv. Court rulings - award high compensation.
v. Poor management that causes closure of firms.
vi. Low premiums paid – inadequate to finance operations.

2. a) Explain five factors that may have affected the value of the national income figure computed through the output approach.		(10mks)

i. Double counting 
ii. Omission of some items- inaccurate figures
iii. Illegal activities not included- yet they are tangible
iv. Depreciation- different methods used
v. Subsistence sector – output not known
vi. Inaccurate figures used- errors of collection

b) Discuss five benefits of having to upgrade the rural roads from earth roads to Tarmac roads.								(10mks)

i. Faster transportation – due to better roads
ii. Opens areas for more investments due to better infrastructure.
iii. Can access market easily since road allows more.
iv. Exploitation of national resources – since can access them
v. Improved standards of living – can generate income.
vi. Rural development – attract investors.
3. a) Explain five reasons why a business needs to use e-advertising in product promotion.									(10mks)

i. Access a wider area
ii. Can select target –since ca deny access
iii. Low costs of advertising- internet is cheaper
iv. Compete globally – all over world due to internet
v. Easy/fast to change the advert – and this can be done online
vi. Fast feedback – through IT can know those who read the advert.
vii. Benefit of simulation – aid people understand it.

b) Highlight five causes of a shortage of product in a market.	(10mks)

i. Rise in cost of production – discourage producers.
ii. Reduction in no of producers – not motivated to engage.
iii. Lack of raw materials to produce.- leading to low production
iv. Decision by producers to hoard goods.- reducing supply in the market
v. Government influence/action to bar/regulate the products.- influencing availability of goods
vi. Poor climatic conditions that affect agriculture.- lowering output
vii. Better prices of other products that causes the producers to shift to other products.
  
4. a) Explain four circumstances that may have caused the recent closure of businesses in Nakuru town.						(8mks)

i. Poor management – lack of relevant skills by operators 
ii. Lack of adequate demand – lack of customers relevant
iii. Lack of capital – inadequate to fiancé operations
iv. Loss making – cannot sustain
v. Poor customer relations – drives them away.
vi. Stiff competition – cannot cope.




b) 
Jeff’s trading, profit and loss account period ended 31.12.2004

Opening stock		     75,000		Sales			1,122,500
Purchases			   900,000
Goods available		   955,000
Less closing stock		     80,000
Cost of sales			   895,000
Gross profit		             227,500
		          1,122,500					1,122,500
Expenses						Gross profit b/d	   227,500
Wages	 100,000				Rent			   140,000
Add: accrued  15,000  	   115,000
	
Commission			     90,000
Electricity		70,000
Less: Prepaid         10,000    60,000

Transport  			     30,000
Total Expenses		  295,000
Net profit c/d                        72,500
				  367,500					367,500
							Net profit b/d	  72,500

Jeff’s balance sheet as at 31.12.2004

Fixed assets		        900,000	Capital			757,500
Cash				60,000	Add profit net		  72,500
						Less drawing 		  25,000
Bank			        160,000	Net capital			805,000
Debtors		        110,000	Creditors			100,000
Stock				80,000	Loan				400,000
Electricity prepaid		10,000	Wages accrued		  15,000
			     1,320,000				       1,320,000

5. a) Discuss five factors that negatively influence the volume of trade from Kenya to Britain.								(10mks)

i. Unfavourable trade policies- discourages exporters
ii. Poor utility goods – lack market
iii. Harsh weather/climate – Lower agriculture produce Kenya relies on it.
iv. Administration bottlenecks – lags/hinder clearance f such goods.
v. Unfavourable prices – discourages producers.
vi. Political differences – Britain lowers quantity they buy.

b) Explain five reasons why microfinance institutions in Kenya are increasing in numbers and size.						(10mks)

i. Easy terms of credit/borrowing
ii. Low income earners acceptable to them.
iii. Low amounts of loans they give – favourable to many.
iv. Savings facilities – accept small amounts deposits.
v. No security needed to borrow – favourable/group guarantors.
vi. Have wider networks – interior areas.
vii. Education/advice to members – attractive.

6. a) Outline five ways through which you can distinguishes a privately owned company from one that is publicly owned.				(10mks)

	Private
	Public

	i. Minimum membership  of 2 shareholders
ii. Maximum membership – shareholder
iii. Restricted transfer of ownership
iv. Not quoted in stock exchange

v. Operate upon receiving  certificate of incorporation
vi. Needs minimum of 1 director
	i. Minimum membership of  7 shareholders
ii. maximum membership – no maximum
iii. Open transfer of ownership

iv. Listed in stock exchange market
v. Operates upon receiving certificate of trading
vi. Minimum of 2 directors



b) GETRUDE’S TWO COLUMN CASHBOOK

	Date 
	Details
	Cash
	Bank
	Date
	Details
	Cash
	Bank

	May 1
	Bal. b/d
	  40,000
	360,000
	May 2
	Rent
	20,000
	

	        4
	Sales
	150,000
	
	       4
	Electricity
	10,000
	

	        9
	Cash
	
	100,000
	8        
	Purchases
	
	140,000

	     15
	Debtors
	
	160,000
	9
	Bank
	100,000
	

	      24
	Bank
	  90,000
	
	20
	Creditors
	
	100,000

	        30
	Cash
	
	138,000
	24
	Cash
	138,000
	

	
	
	
	
	31
	Bal. c/d
	12,000
	428,000

	
	
	280,000
	758,000
	
	
	280,000
	758,000

	June 1
	Bal b/d
	12,000
	428,000
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